Yeox=b1

I3y b
94=IL1

NP —Ib
=47V

N=FY
avo

Exo 0y o

FSOU=-Y

JU-vI1

MO
J0vo

gRonvo

en—2

fitwARy T2
AWN=b
PEEPLY VS
hlvs=p

FX{liE

FXTZRIE

KEFX
 TEE

FRIZHREE

IGU

RV-OTU

oy
J0vo

Ui

LAzl

ki

SEEIER
J0vo

it
J0vo

&a

~NUF
FUa—-L

KB
FUa—-L

SRZxIV A

B7ER

RSERE

AR

Z1=ILF
Ry IR

Az

HI5 v
SRk

HCERRR

E{olelohd
Tk
)
9#=b

117

ERDS5Hh—I TLF v ANEGRERE

L '

o ¥ HVERTOMERRE
g.ﬂiiE ST O 2 AR I

% % iR 15 4T B7E REFGER
Z2 T e 2508
E = B R b 1105x300
. 300=0Mia
BiE| 30 | i %
C# | kN |HE j@ THBARIZER A 2 LB SN T Y
BRI - [FRA CHELL 1- S EEAZRI50mI TS
770 1105
HEEOLEES 10m 5m

BRXiRZ—ERTIFTHY ., BlRORBZEBLEEA
EFEREIER Sm TREMRHTIEE (B - CEDH)

B AR
Ot & OREBIREZMHE Y . BEMOEAHL HR L
@V ER CORSEMRE
RBERHDRHEMH KD 5N B




BER EREREREERI 1D

W seTHES

o A O
E%I:S%§§§#—T%i
1

SiEf
705

s

EILZIL

22080

. ]!

L 76 | 40 |

&

B smELsLad
T BEHRC O

> 1205
W 4% @IEESRETHE)
o HAR IHERA ImEB
e
: ©
]
s 19 i

337 1585 278
i 340 i 2060 i

8 ; ; ) T2

g =2 & i
1 1975 1 4257‘ 1 1700 ! 1 1275 1425 !

L 1157 kg 895 kg 900 kg

Yeox—1b1

IS5y b
U#=b1

NPY x—Ib

H=-547 VI

N=5
aovo

EE>oyo
FSITU—-Y
JU=yI1

MOLE
Jaovo

2@oovo
en—2
fitmmARyI2
A=k

JaqIMRYIA
Albik=p

FX{liE

FXTIZ{RE

KBIFX
RS

FRIZHRENE
IGU

RV-OTU

oy
Jovo

URARIE
Ll

Rkt

HHEERR
Jovo

5z
Jovo

&a

~NIF
IYVa-L

KB
FYUa-L

SRV R

BfER
ERERE

RSERE

mA—K

J«1—=ILR
RKyIR

faze

HISUAR
K

HCERKR
fRDR-HT
T

H—5Y
ox=

118



